Answers to HW 1

NOTE: In problem 3.8 the radius of 0.124*10^-7cm in the denominator should not be cubed.
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Salvingfor C and substitution into Equation (2.12) yields an expression for E as
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(b) Now salving for D from Equation (2.12b) above yields
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Substitution of this expression for D into Equation (2.12) yields an expression for E, as





[image: image3.png]221 For siicon, having the valenc:

bonds per atom
For bromine, having the valer

valent bond per atom.

tron structure 25%2p%, N'= 5; thus, there are 8- N'= 3

For nit

jen, having the valer

valent bonds per atom.

thus, there are & - N

For sulfur, having the valence electron stucture 3s2ap* N'

valent bonds per a




[image: image4.png]223 The intermolec

lar bonding for HF is hydrogen, whereas for HCI, the intermolzcular bonding is van
der Waals. Since the hydrogen bond is stionger than van der Waals, HF will have a bigher melting

temperature,




[image: image5.png]37 This problem calls for a demonstration that the APF for HCP is 0.74. Again, the APF is just the total

For HCP, there are the equivalent of six spheres per unit

sphere-unit cell volume ratio all, and thus

3
ﬂ‘ e

‘|

Now, the unit cell volume s just the produ

ctof the base area times the cel height, c. This base area
is just three times the area of the parallelepiped ACDE shown below,
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3.8  .124*10^-7 cm should not be cubed
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The value given inside the front coveris 7.8
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(b) From the table inside the front cover, the atormic radius for molybdenum is 0.136 nm. Therefore,

the planar density for the (100) plane is
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